Garland Independent School

GISD Sourcing Bid Tab Report

Bid#: 31649	Title: 343-01-16 Fo Uniforms and Equipment	
-------------	--	--

Quote# Vendor / Supplier	EPCNT	Discount
473595 AMERICA TEAM SPORTS	Yes	
473594 BARCELONA SPORTING GOODS	YES	
472594 BIG GAME SPORTS INCORPORATED	Yes	
472596 GTM SPORTSWEAR	Yes	
473597 KIMMEL ATHLETIC SUPPLY DBA RB	YES	
472584 NEFF MOTIVATION INC	ves	
473596 RIDDELL ALL AMERICAN	Yes	
472588 S AND S WORLDWIDE INC	ves	
472605 VARSITY BRANDS HOLDINGS CO INC	Yes	

		Awar						
Line		d (Y /		uo				Extended
#	Item Description	N)	Reason	М	Supplier	Qty	Price	Price
#	item bescription	IN)	Reason	IVI	Supplier	Qty	FIICE	FIICE
1	Adams or District Approved Equal							
			4QIG: Quantities (bid					
			and/or to specification insufficient to award		VARSITY BRANDS HOLDINGS CO			
		No	group.)		INC DBA BSN SPORTS LLC		Total	\$6,621.16
		Yes			AMERICA TEAM SPORTS		Total	\$8,483.50
		res			AMERICA EAN CLOSE C		rotar	ψο, 100.00
		No			BARCELONA SPORTING GOODS		Total	\$9,313.81
		No			KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$10,091.30
	Champion or District Approved	No			RB SFORTING GOODS		Total	\$10,091.30
2	Equal							
	Champion 101 Wrestler Knee				KIMMEL ATHLETIC SUPPLY DBA			
2.01	Pads 9¿, Black	Yes		PR	RB SPORTING GOODS	150	5.86	\$879.00
	Champion 101 Wrestler Knee							
2.01	Pads 9¿, Black	No		PR	AMERICA TEAM SPORTS	150	12	\$1,800.00
	Champion 101 Wrestler Knee							
2.01	Pads 9¿, Black	No		PR	BARCELONA SPORTING GOODS	150	18.89	\$2,833.50
	Champion 101 Wrestler Knee				VARSITY BRANDS HOLDINGS CO			
2.01	Pads 9¿, Black	No		PR	INC DBA BSN SPORTS LLC	150	13.82	\$2,073.00
3	Riddell or District Approved Equal							
3	Riddell of District Approved Equal							
		No			BARCELONA SPORTING GOODS		Total	NB
			4QIG: Quantities (bid					
			and/or to specification insufficient to award		VARSITY BRANDS HOLDINGS CO			
		No	group.)		INC DBA BSN SPORTS LLC		Total	\$7,971.86
		Yes			RIDDELL ALL AMERICAN		Total	\$33,365.65
	Douglas or District Approved							
4	Equal							
		Yes			BARCELONA SPORTING GOODS		Total	\$24,961.10
					KIMMEL ATHLETIC SUPPLY DBA			·
		No		-	RB SPORTING GOODS		Total	\$26,116.20
					VARSITY BRANDS HOLDINGS CO			
		No			INC DBA BSN SPORTS LLC		Total	NB
	Cutters or District Approved							
5	Equal							
		Yes			AMERICA TEAM SPORTS		Total	\$1,462.00
		No			BARCELONA SPORTING GOODS		Total	\$1,957.16
		140			KIMMEL ATHLETIC SUPPLY DBA		Total	φ1,337.10
		No			RB SPORTING GOODS		Total	\$2,904.70

	T			T	1			
					VARSITY BRANDS HOLDINGS CO			
		No			INC DBA BSN SPORTS LLC		Total	NB
6	Wilson							
	Wilson GST Footballs with school							
	name No seconds no subs -							
6.01	District Approved Ball	Yes		EA	BARCELONA SPORTING GOODS	178	\$63.60	\$11,320.80
	Wilson GST Footballs with school							
6.01	name No seconds no subs - District Approved Ball	No		EA	AMERICA TEAM SPORTS	178	\$65.95	\$11,739.10
							400.00	***,*******
	Wilson GST Footballs with school name No seconds no subs -				KIMMEL ATHLETIC SUPPLY DBA			
6.01	District Approved Ball	No		EA	RB SPORTING GOODS	178	\$68.25	\$12,148.50
	Wilson GST Footballs with school							
	name No seconds no subs -				VARSITY BRANDS HOLDINGS CO			
6.01	District Approved Ball	No		EA	INC DBA BSN SPORTS LLC	178	\$109.24	\$19,444.72
7	Adidas or District Approved Equal							
		Yes			AMERICA TEAM SPORTS		Total	\$42,750.60
					DARGELONA GRORTING COORS		T. (- 1	ND
		No			BARCELONA SPORTING GOODS KIMMEL ATHLETIC SUPPLY DBA		Total	NB
		No			RB SPORTING GOODS		Total	\$58,119.95
					VARSITY BRANDS HOLDINGS CO			
		No			INC DBA BSN SPORTS LLC		Total	NB
8	Twin City of District Approved Equal							
U	Lquai							
		Yes			BARCELONA SPORTING GOODS		Total	\$1,230.40
		No			KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$4,664.90
		-						, , ,
		No			VARSITY BRANDS HOLDINGS CO INC DBA BSN SPORTS LLC		Total	\$5,344.66
	McDavid or District Approved	140						40,0100
9	Equal							
		Yes			BARCELONA SPORTING GOODS		Total	\$3,280.00
		No			KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$7,304.00
		NO			NB 61 GRTING GGGBG		Total	ψ1,304.00
		N -			VARSITY BRANDS HOLDINGS CO		Total	NB
		No			INC DBA BSN SPORTS LLC		Total	IND
10	Nike or District Approved Equal		4QIG: Quantities (bid					
			and/or to specification					
			insufficient to award		VARSITY BRANDS HOLDINGS CO		T. ()	* 0.005.00
		No	group.)		INC DBA BSN SPORTS LLC KIMMEL ATHLETIC SUPPLY DBA		Total	\$9,225.69
		Yes			RB SPORTING GOODS		Total	\$17,698.98
		No			BARCELONA SPORTING GOODS		Total	\$19,841.43
11	Schutt or District Approved Equal							
		Yes			AMERICA TEAM SPORTS		Total	\$63,664.00
		No			BARCELONA SPORTING GOODS		Total	\$68,396.92
				1	KIMMEL ATHLETIC SUPPLY DBA			
		No			RB SPORTING GOODS		Total	\$74,081.05
					VARSITY BRANDS HOLDINGS CO			
		No		_	INC DBA BSN SPORTS LLC		Total	\$78,238.69
12	Russell or District Approved Equal							
12	-quul	Yes			AMERICA TEAM SPORTS		Total	\$34,472.50
		Tes			AMERICA PEAW SPORTS		TOtal	ψ3 4,4 7 2.50
		No		1	BARCELONA SPORTING GOODS		Total	\$37,047.40
		No			KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$36,870.30
			•	1				, , , , , , , ,

	I				1			
		No			VARSITY BRANDS HOLDINGS CO		Total	NB
13	Gilman Gear or District Approved Equal	140			ING DBA BON OF ONTO EES		Total	
		No			BARCELONA SPORTING GOODS		Total	NB
					VARSITY BRANDS HOLDINGS CO			
		Yes			INC DBA BSN SPORTS LLC		Total	\$4,214.30
14	Rogers or District Approved Equal							
		No			BARCELONA SPORTING GOODS		Total	NB
		Yes			KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$4,106.94
		No			VARSITY BRANDS HOLDINGS CO INC DBA BSN SPORTS LLC		Total	NB
15	Miscellaneous Or District Approved Equal							
	1 4 p 2 2 2 2 2 4 2 2 2 2 2 2 2 2 2 2 2 2		4QIG: Quantities (bid					
			and/or to specification insufficient to award		VARSITY BRANDS HOLDINGS CO			
		No	group.)		INC DBA BSN SPORTS LLC		Total	\$27,904.79
		Yes	_		AMERICA TEAM SPORTS		Total	\$33,892.80
		No			BARCELONA SPORTING GOODS		Total	\$41,771.93
		NO			KIMMEL ATHLETIC SUPPLY DBA		10.01	ψ-1,111100
		No			RB SPORTING GOODS		Total	\$38,481.85
16	Helmet Decals							
		No			BARCELONA SPORTING GOODS		Total	\$2,650.00
		No			KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$1,960.20
		Yes			NEFF MOTIVATION INC		Total	\$1,372.80
					VARSITY BRANDS HOLDINGS CO			
		No			INC DBA BSN SPORTS LLC		Total	NB
17	Xenith							
		Yes			BARCELONA SPORTING GOODS		Total	\$2,394.00
					VARSITY RRANGS HOLDINGS CO.			
		No			VARSITY BRANDS HOLDINGS CO INC DBA BSN SPORTS LLC		Total	NB
18	Big Game							
18.01	Big Game Football with school logo	Yes		EA	BARCELONA SPORTING GOODS	76	\$63.60	\$4,833.60
	Big Game Football with school				BIG GAME SPORTS			
18.01	logo	No		EA	INCORPORATED DBA BIG GAME	76	\$64.99	\$4,939.24
	Din Come Feethell with coheel				VARSITY REANES HOLDINGS CO			
18.01	Big Game Football with school logo	No		EA	VARSITY BRANDS HOLDINGS CO INC DBA BSN SPORTS LLC	76	NB	NB
19	Adidas Game Day Polo Adidas Game Day Polo with one							
	color embroidery, color, sizes and							
19	color of embroidery to follow when order is placed.	Yes		FΑ	AMERICA TEAM SPORTS	21	\$24.00	\$504.00
	Adidas Game Day Polo with one						7	
	color embroidery, color, sizes and color of embroidery to follow							
19	when order is placed. Adidas Game Day Polo with one	No		EA	BARCELONA SPORTING GOODS	21	\$35.00	\$735.00
	color embroidery, color, sizes and							
19	color of embroidery to follow when order is placed.	No		EA	KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS	21	\$26.50	\$556.50
13	mion order is piaced.	140	1		IND OF CRITICO COODS		Ψ20.00	05.00.50

40	Adidas Game Day Polo with one color embroidery, color, sizes and color of embroidery to follow			VARSITY BRANDS HOLDINGS CO		ND	
19	when order is placed.	No	EA	INC DBA BSN SPORTS LLC	21	NB	
20	Wizard						
		Yes		BARCELONA SPORTING GOODS		Total	\$103.50
		No		AMERICA TEAM SPORTS		Total	\$119.00
		No		KIMMEL ATHLETIC SUPPLY DBA RB SPORTING GOODS		Total	\$109.52
				VARSITY BRANDS HOLDINGS CO			
		No		INC DBA BSN SPORTS LLC		Total	NB